
www.ronixtools.com

POWER TOOLS

5918
Cut-Off Saw 1280W



www.ronixtools.com

POWER TOOLS

5918
Cut-Off Saw 1280W

Number Name

1 screw   st4.2×14

2 back cover

3 housing

4 brush holder

5 carbon brush

6 brush cover

7 screw M5x25

8 spring washer

9 washer

10 stator

11 screw ST4.2x65

12 bearing 608

13 rotor

14 screw st4.2×16

15 bearing 6001

16 washer Ф4

17 screw st4.2x35

18 top handle

19 screw M5×20

20 cable press board

21 plug

22 cable cover

23 right handle

24 bottom handle

25 switch

26 arm

27 lockspring

28 lockpin

29 left handle

30 big spring

31 screw M4×10

32 fixed pin

33 locked pin

34 oil bearing

35 O ring

36 nog

37 screw M6×16

38 screw M6×25

39 spring washer Φ6

40 screw M8×30

41 screw M8×30

42 nut M8

43 dust board

44 circlips 15

45 big gear

46 bearing 6202

47 front cover

48 spring washer 6

49 spindle

50 key 4

51 fixed cover

52 active cover

53 locknut M5

Number Name

54 screw

55 screw M8×20

56 small flange

57 wheel flange

58 cutting wheel

59 crankweb

60 pin 6×25

61 screw rod

62 pin

63 active nut

64 washer 6

65 active pin

66 cotter pin 2×20

67 steel ring

68 screw M5×30

69 knob

70 screw M10×20

71 fixed plate

72 active plate

73 steel base

74 foot

75 screw M6×25

76 nut seat


